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MESE-060(S) : CURRICULUM DEVELOPMENT AND 
TRANSACTION 

Time : 3 hours 	 Maximum Weightage : 70% 

Note 
(i) AU questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

Explain the major foundations of curriculum 
construction. 

OR 

Explain briefly the 'integrated approach' of 
curriculum planning. 

2. Answer the following question in about 
600 words : 
Discuss the activities needed to be undertaken 
before implementation of curriculum. 

OR 

Explain with examples various types of tasks 
that can be carried out in the activity method. 
Discuss merits and demerits of the activity 
method. 
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3. Answer any four of the following questions in 
about 150 words each : 

(a) Differentiate between norm-referenced and 
criterion-referenced tests. 

(b) Write a short note on child-centred model of 
curriculum planning. 

(c) Describe the characteristics of a project 
method. 

(d) Discuss the advantages of a supervised 
study. 

(e) Differentiate between the concept of 
counselling and tutoring. 

(f) Explain the advantages and limitations of 
conducting interview. 

4. Answer the following question in about 
600 words : 

Critically analyse various types of curriculum 
theories. Which curriculum theory do you 
consider that encourages constructivist 
learning ? Support your answer with the help of 
suitable examples. 
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